
No. Parça Adı Adet No. Parça Adı Adet
1 Handle -(Lever Type) 1 35 Driving Gear 1

2 Air Inlet Bushing 1 36 Driven Gear 1

3 Valve Bushina 1 37 Casing Front Cover 1

4 Valve Lever 1 38 Dead Handle 1

5 Valve Bodv Nut 1 39 Head Bolt 1

6 Safety Pin 1 40 Nut (M6) 1

7 Filter 1 41 Grease Fitting 1

8 Governor Valve Bushing 1 42 Spring Washer 1

9 Valve 1 43 Spring Washer 1

10 Roll Pin 1 44 Snap Ring 1

11 O-Ring 2 45 Roll Pin 1

12 Spring 1 46 Key 1

13 Cone Spring 1 47 Adjusting Spacer 1

14 Snap Ring 1 48 Spacer 1

15 O-Ring 2 49 Washer 1

16 Governor Valve 1 50 Snap Ring 1

17 Governor Spindle 1 51 Bearing 1

18 Governor Cage 1 52 Bearing 1

19 Governor Weight 2 53 Bearing 1

20 Roll Pin 2 54 Bearing 1

21 Adiusting Spacer 1 55 Fiatring 1

22 Spring 1 56 O-Ring 1

23 Pin 1

24 Eahaust Stack 1 57 Wheel Gusrd 1

25 Muffler Stem Assembly 1 58 Wheel Holgwe Flange 1

26 O-Ring 1 59 Head Screw (M6*18) 1

27 Casing 1 60 Roll Pin 1

28 Cylinder Rear Plate 1 61 Snap Ring 1

29 Cylinder 1 62 Wheel Spindle (M14 x 2.0P) 1

30 Rotor 1 63 Wheel Nut Flange (M14 x 2.0P) 1

31 Blade 4

32 Front Plate 1 64 Spanner (24) 1

33 Cylinder Rear Plate Spacer 1 64 Spanner 1

34 Whrrl Spindle Real Cover 1 64 Aller Wrench (4mm) 1

Spindle set

Removal Tools

OS-107B GAV HAVALI TAŞLAMA

Bi Dünya Havalı
Havalı El Aletleri Satış & Teknik Servis 
Tel: 0536 451 11 88




